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Algorithm Kruskal(Edge, n, T, Mincost)
mm)>  O(|E| log|E
Mincost=0; Nedge=0; i1=1; T={} ([E] log|E})

While Nedge<n-1 do - O(|E|)
{ e=(u,v)=(Edgefi,1],Edge[i,2])

sl 2w )50 JSET 4re 2 S 4ilal & pomml>  O(log n)
{ T=T+{e}
Mincost=Mincost+Cost[u,Vv]

Nedge=Nedge+1

mmm=p> O(E| logE|) <
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Algorithm Prim(cost,n, T,Mincost)

Mincost=0;
For 1=2 to n do Near[i1]=1;
Near[1]=0;
For i=1 ton-1 do { ~
280 aasise a8 cost[j,Near[j]] s Near[j]<>0 48 (8 il gl aif a1, j ol O(n)
(T[i, 11,T[i,2])=G,Nearj])
Mincost=Mincost+cost[j,Near[j]]
Near[j]=0;
For k=2 ton do{ mm) O(n)
if( Near[k]<>0 and cost[k,Near[k]]>cost[k,j]) then Near[k]=j

)
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Cost[j,Near([j]]
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Algorithm Shortest Paths(V,cost,dist,n)
Fori=1 ton do
S[i]=False; dist[1]=cost[V,1];
S[V,]=true; dist[V,]=0;
For num=1 to n-1 do/{ ‘ O(n2)
250 aarita o8 dist[x] s S[x]=false 4S 23b ol jx (= 8
S[x]=true;
for(x O Gala sl ») do
if S[t]=False and dist[x]+cost[x,t]<dist[t] then
dist[t]=dist[x]+cost[x,t]













oyl s o) =150




@ s 531 s 5 o

(aelol) Jlis




